

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2025

	Contract ID Prime Contra	241213- actor N.B. We	F02 est Contracting Company	Pay Period Start Pay Period End	August 16 Septembe		Original Contract Amount Net Change Order Amount Current Contract Amount	\$8,843,900.00 \$79,571.10 \$8,923,471.10		
Approval Date								By User		
September 3, 2025			Generated and A	pproved (and should	oe considere	ed Draft) a	at the Project Office Level by	calveg1		
September 3, 2025			Reviewed and Appro-	ved (and should be co	nsidered Dr	aft) at the	Resident Engineer Level by	redhac		
September 4, 2025			F	Reviewed and Approve	ed at the Ce	ntral Offic	e Controllers Office Level by	ramses1		
Original Completi	Original Completion Date Curren			Completion Date Actual Completion			Date % of Current Contract Amount Complet			
November 24, 2	2025	Noven	nber 24, 2025				48.61%			
	Co	ontract Informa	ational Dates				Milestones			
Date Description	Original Co	mpletion Date	Current Completion Da	ate	No Miles	tones Exis	st for Contract			
Acceptance Date										
Awarded Date	January 8, 2	025	January 8, 2025							
Letting Date	December 1	3, 2024	December 13, 2024							
Notice to Proceed Date	February 10	, 2025	February 10, 2025							
Work Began Date	February 24	, 2025	February 24, 2025							

Contract Total Pa	y For Estimate No. 14			
		This Estimate	Previous	To Date
241213-F02				
	Total Posted Items Pay	\$664,876.48	\$3,672,664.38	\$4,337,540.86
	Gross Item Adjustments	\$14,157.56	\$9,658.68	\$23,816.24
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$3,682,323.06	\$4,361,357.10
Contract Total Page	vable This Estimate:	\$679.034.04		

<u>items Paid I</u>	nis Estima	<u>ite Period</u>
Duning 4	Line	14

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSL0035	0010	2013000	CLEARING AND GRUBBING	ACRE	\$21,625.000	0.200	\$4,325.00
	0030	2031000	CLASS A EXCAVATION	CUYD	\$63.500	300	\$19,050.00
	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$91.000	76.380	\$6,950.58
	0110	4030111	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125CLP MIX)	TONS	\$85.000	5,046.890	\$428,985.65
	0120	4071007	TACK COAT - NON-TRACKING	GAL	\$2.700	4,144.900	\$11,191.23
	0260	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$57.500	100	\$5,750.00
	0270	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$78.750	100	\$7,875.00
	0670	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$1.950	53,050.780	\$103,449.02
	0690	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$4.500	200	\$900.00
	1370	7034212	SLAB ON STEEL	SQYD	\$600.000	109	\$65,400.00
	1470	7151001	VERTICAL DRAIN AT END BENTS	EA	\$5,500.000	2	\$11,000.00

 Project JSL0035 - Total
 \$664,876.48

 Overall - Total
 \$664,876.48

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line item	Aujusti	ments mis Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0035	0050	COMPACTING EMBANKMENT	Material			-177	\$15.50	(\$2,743.50)
	0050	COMPACTING EMBANKMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on	177	\$15.50	\$2,743.50

Revision 9/2/2025 Page 1 of 19



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2025

stimat	gress e Numi 14		213-F02 . West Contracti	ng Company	Pay Period End September 1, 2025	Original Contract Net Change Orde Current Contract	r Amount	\$8,843,900.0 \$79,571.1 \$8,923,471.1
roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
L0035					the current Payment Estimate.			
	0090	MISC.	Material			-162	\$33.50	(\$5,427.00)
	0090	MISC.	MaterialCredit			162	\$33.50	\$5,427.00
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment= \$58.05 Mix: BP1 24-49 Virgin AC: 3.8%			\$58.05
	0110	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125CLP MIX)	Material			-5,046.89000	\$85.00	(\$428,985.65)
	0110	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125CLP MIX)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user calveg1 overridding Payment Estimate Exception 3 or the current Payment Estimate.	5,046.89000	\$85.00	\$428,985.65
	0110	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125CLP MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment= \$4037.51 Mix: SP125 25-59 Virgin AC: 4.0%			\$4,037.51
	0160	MISC.	Material			-387.60000	\$136.00	(\$52,713.60)
	0160	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user calveg1 overridding Payment Estimate Exception 4 or the current Payment Estimate.	387.60000	\$136.00	\$52,713.60
	0190	PIPE AGGREGATE PAVEMENT CROSS DRAIN	Material			-69	\$123.00	(\$8,487.00
	0190	PIPE AGGREGATE PAVEMENT CROSS DRAIN	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment Estimate Exception 5 or the current Payment Estimate.	69	\$123.00	\$8,487.00
	0190	PIPE AGGREGATE PAVEMENT CROSS DRAIN	MaterialCredit			69	\$123.00	\$8,487.00
	0210	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material			-11	\$21.00	(\$231.00
	0210	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user calveg1 overridding Payment Estimate Exception 7 or the current Payment Estimate.	11	\$21.00	\$231.00
	0690	PERMANENT EROSION CONTROL GEOTEXTILE	Material			-550	\$4.50	(\$2,475.00
	0690	PERMANENT EROSION CONTROL GEOTEXTILE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user calveg1 overridding Payment Estimate Exception 8 of the current Payment Estimate.	550	\$4.50	\$2,475.00
	0690	PERMANENT EROSION CONTROL GEOTEXTILE	MaterialCredit			350	\$4.50	\$1,575.00
	1370	SLAB ON STEEL	Material			-109	\$600.00	(\$65,400.00
	1370	SLAB ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user calveg1 overridding Payment Estimate Exception 9 of the current Payment Estimate.	109	\$600.00	\$65,400.00

Revision 9/2/2025 Page 2 of 19



## Missouri Department of Transportation Contractor's Pay Estimate Summary

### Pay Estimate Created Date: September 3, 2025

Estimat	gress e Numl 14		241213-F02 N.B. West Contracti	ing Company	Pay Period End September 1, 2025 N	Original Contract let Change Orde Current Contract	\$8,843,900.00 \$79,571.10 \$8,923,471.10	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0035	1470	VERTICAL DRAIN AT END BENTS	Material			-2	\$5,500.00	(\$11,000.00)
	1470	VERTICAL DRAIN AT END BENTS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user calveg1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	2	\$5,500.00	\$11,000.00
Total								\$14,157.56

Revision 9/2/2025 Page 3 of 19



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

Proj. Number   Proj						С	ontract Project Informat	ion
(89) resurface, bridge deck replacement and bridge deck rehabilitation   tals by Job Numbers  This Estimate Previous To Date Posted Item Pay \$664,876.48 \$3,672,664.38 \$4,337,540.86 Gross Item Adjustments \$14,157.56 \$9,658.68 \$23,816.24 Gross Item Pay \$679,034.04 \$3,682,323.06 \$4,361,357.10 Incentive \$0.00 \$0.00 \$0.00	Project Number	Proj.		Route	County			Location of Work
This Estimate	JSL0035		resurface, bridge deck replacement and bridge deck	100	FRANKLIN	from 0.1 mile east of f	Fifth Street to 0.2 miles west o	of Route OO
Posted Item Pay \$664,876.48 \$3,672,664.38 \$4,337,540.86 Gross Item Adjustments \$14,157.56 \$9,658.68 \$23,816.24 Gross Item Pay \$679,034.04 \$3,682,323.06 \$4,361,357.10 Incentive \$0.00 \$0.00 \$0.00	Totals b	by Job Nu	mbers					
	JSL0035				tem Pay	\$664,876.48 \$14,157.56	\$3,672,664.38 \$9,658.68	\$4,337,540.86 \$23,816.24
Liquidated Damages         \$0.00         \$0.00         \$0.00           Other Contract Adjustments         \$0.00         \$0.00         \$0.00		Disince Liquida	entive ated Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00

Revision 5/29/2025 Page 4 of 19



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 2036000, Project Item Line Number 0050, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	Material was tested for density but was reported with compacted Type 5. Working with QC to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 3049905, Project Item Line Number 0090, Material Set 304990596, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Testing results have not been received from QC for this material.	calveg1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 4030111, Project Item Line Number 0110, Material Set 4030111, Material 0403SP125CLGLP - Superpave 12.5 mm, Des C LP Low Gyros, Acceptance Action Generic AspHigh is insufficient.	QA and QC tests have been completed and have been received via email. Working with QC and SL Materials to get these tests reported on AASHTOWare.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 5029905, Project Item Line Number 0160, Material Set 502990596, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL Report for Tie Bars has been submitted and received but was not set up correctly on the job. Working with SL Materials to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 6051018A, Project Item Line Number 0190, Material Set 6051018A96, Material 1022UDCSZC - Underdrain Corrg Steel -Zinc Coated, Acceptance Action Generic 1022UDCSZC is insufficient.	PVC Pipe was used for this material with approval from the Resident Engineer. Discussing with SL Materials on how to address this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 6051018A, Project Item Line Number 0190, Material Set 6051018A96, Material 1011GXT1 - Geotextile Fabric for SubsrfDrainage(T1), Acceptance Action Generic 1011GXT1 is insufficient.	Certification has been received from the contractor for this material and has been sent to SL Materials for system input. Working with SL Materials to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 6092011, Project Item Line Number 0210, Material Set 609201196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	White pavement cure was used for this concrete. PAL is on file for white cure. Working with SL Materials to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 6240103A, Project Item Line Number 0690, Material Set 6240103A96, Material 1011GXT3 - Geotextile Fabric for ErosionControl(T3), Acceptance Action Generic 1011GXT3 is insufficient.	Certification has been received from the contractor for this material and has been sent to SL Materials for system input. Working with SL Materials to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 7034212, Project Item Line Number 1370, Material Set 703421296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Deck concrete has not been poured for this Line Item yet. Partial Payment for this line item is as specified in EPG 703.2	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 7034212, Project Item Line Number 1370, Material Set 703421296, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Deck concrete has not been poured for this Line Item yet. Partial Payment for this line item is as specified in EPG 703.2	calveg1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0035, Item 7151001, Project Item Line Number 1470, Material Set 715100196, Material 0715DRVT - Vertical Drain at End Bents, Acceptance Action Generic 0715DRVT is insufficient.	Certification has been received from the contractor for this material and has been sent to SL Materials for system input. Working with SL Materials to resolve this exception.	calveg1	Overridden
Estimate Exception Type: Item Overrun: Contract 241213-F02, Contract Project JSL0035, Project Item Line Number 0350, Contract Line Item Number 0350, Item 6131010, Minor Item.	Item overruns will be addressed in an upcoming change order.	calveg1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241213-F02, Contract Project JSL0035, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6131018, Minor Item.	Item overruns will be addressed in an upcoming change order.	calveg1	Acknowledged

Revision 5/29/2025 Page 5 of 19



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

		ntities and	d Value	s are base	d on Report Generated date and can differ from the poste	ed amount a	at the tim	e the Estima	ate was	Generated.		
ract F	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
13- JS	SL0035	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.30	\$21,625.00	\$6,487.50
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.60	\$218,075.00	\$130,845.00
		0001	0030	2031000	CLASS A EXCAVATION	1,694.00	0.00	1,694.00	CUYD	665.00	\$63.50	\$42,227.50
		0001	0040	2035000	UNCLASSIFIED EXCAVATION	70.00	0.00	70.00	CUYD	70.00	\$79.00	\$5,530.00
		0001	0050	2036000	COMPACTING EMBANKMENT	177.00	0.00	177.00	CUYD	177.00	\$15.50	\$2,743.50
		0001	0060	2037075	COMPACTING IN CUT	10.50	0.00	10.50	STA	10.50	\$952.00	\$9,996.00
		0001	0070	2079909	MISC.MODIFIED LINEAR GRADING	4.10	0.00	4.10	STA	0.30	\$3,550.00	\$1,065.00
		0001	0800	2159910	MISC.SHAPING SLOPES, CLASS III - MODIFIED MATERIAL REQUIREMENT	77.00	7.00	84.00	100F	75.10	\$1,200.00	\$90,120.00
		0001	0090	3049905	MISC.TYPE 5 AGGREGATE FOR BASE (VARIABLE THICKNESS)	555.00	0.00	555.00	SQYD	162.00	\$33.50	\$5,427.00
		0001	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	9,123.30	0.00	9,123.30	TONS	6,739.33	\$91.00	\$613,279.0
		0001	0110	4030111	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125CLP MIX)	17,911.60	0.00	17,911.60	TONS	6,472.07	\$85.00	\$550,125.9
		0001	0120	4071007	TACK COAT - NON-TRACKING	24,998.00	0.00	24,998.00	GAL	10,469.90	\$2.70	\$28,268.7
		0001	0130	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	131,687.00	0.00	131,687.00	SQYD	0.00	\$4.75	\$0.0
		0001	0140	4138000	PCCP CRACK FILLING	446.00	0.00	446.00	LF	0.00	\$4.25	\$0.0
		0001	0150	4139905	MISC.HIGH FRICTION SURFACE TREATMENT - BAUXITE	12,057.00	0.00	12,057.00	SQYD	0.00	\$21.34	\$0.0
		0001	0160	5029905	MISC.CONCRETE PAVEMENT (5 3/4 IN. NON-REINFORCED, 7.5 FT. TRANSVERSE CONTRACTION JOINTS)	387.60	0.00	387.60	SQYD	387.60	\$136.00	\$52,713.60
		0001	0170	5029905	MISC.CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 6 FT. JOINTS)	162.00	0.00	162.00	SQYD	162.00	\$170.00	\$27,540.00
		0001	0180	5041000	CONCRETE APPROACH PAVEMENT	150.00	0.00	150.00	SQYD	0.00	\$214.00	\$0.00
		0001	0190	6051018A	PIPE AGGREGATE PAVEMENT CROSS DRAIN	69.00	0.00	69.00	LF	69.00	\$123.00	\$8,487.00
		0001	0200	6091042	CONCRETE GUTTER TYPE B	519.00	0.00	519.00	LF	0.00	\$84.50	\$0.00
		0001	0210	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	143.00	0.00	143.00	LF	11.00	\$21.00	\$231.0
		0001	0220	6093015	ASPHALT CURB (4 INCH)	95.00	0.00	95.00	LF	0.00	\$57.50	\$0.0
		0001	0230	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	2.00	0.00	2.00	CUYD	0.00	\$58.00	\$0.0
		0001	0240	6096041	PLACING TYPE 1 ROCK DITCH LINER	2.00	0.00	2.00	CUYD	0.00	\$92.00	\$0.0
		0001	0250	6099903	MISC.CONCRETE GUTTER TYPE A (SPECIAL)	14.00	0.00	14.00	LF	0.00	\$136.00	\$0.0
		0001	0260	6113020	FURNISHING TYPE 2 ROCK BLANKET	1,090.00	0.00	1,090.00	CUYD	225.00	\$57.50	\$12,937.5
		0001	0270	6113040	PLACING TYPE 2 ROCK BLANKET	1,090.00	0.00	1,090.00	CUYD	225.00	\$78.75	\$17,718.7
		0001	0280	6116010A	SLOPE PROTECTION	2.00	0.00	2.00	SQYD	0.00	\$230.00	\$0.0
		0001	0290	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	1.00	0.00	1.00	EA	1.00	\$4,140.00	\$4,140.0
		0001	0300	6122020	REPLACEMENT SAND BARREL	8.00	0.00	8.00	EA	0.00	\$445.00	\$0.0
		0001	0310	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	0.00	\$1,275.00	\$0.0
		0001	0320	6122040	WORK ZONE CRASH CUSHION (NARROW)	2.00	0.00	2.00	EA	2.00	\$6,250.00	\$12,500.0
		0001	0330	6122041	WORK ZONE CRASH CUSHION (NARROW) (RELOCATION)	3.00	0.00	3.00	EA	0.00	\$1,850.00	\$0.0
		0001	0340	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.0
		0001	0350	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	767.40	0.00	767.40	SQYD	817.72	\$360.00	\$294,379.20
		0001	0360	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	122.00	0.00	122.00	SQYD	0.00	\$1.00	\$0.00
		0001	0370	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	122.00	0.00	122.00	SQYD	0.00	\$1.00	\$0.00
		0001	0380	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	3,420.00	0.00	3,420.00	LF	3,224.00	\$10.25	\$33,046.00
		0001	0390	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,689.00	0.00	1,689.00	EA	1,507.00	\$14.40	\$21,700.80
		0001	0400	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	7.00	0.00	7.00	EA	19.00	\$14.40	\$273.60
		0001	0410	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	15.40	0.00	15.40	TONS	0.00	\$550.00	\$0.00
		0001	0420	6133021 6161098A	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	94.50	0.00	94.50	SQYD	4.00	\$49.00 \$2,800.00	\$0.00 \$11,200.00
		0001	0440	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,200.00	\$4,800.00
		0001	0450	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.75	\$68,000.00	\$51,000.0
		0001	0460	6173001	CONCRETE TRAFFIC BARRIER, TYPE C (RETAINING WALL)	511.00	0.00	511.00	LF	0.00	\$167.50	\$0.0
		0001	0470	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	499.00	0.00	499.00	LF	499.00	\$31.65	\$15,793.3
		0001	0480	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	460.00	0.00	460.00	LF	0.00	\$11.15	\$0.0
		0001	0490	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$562,838.06	\$562,838.0
		0001	0500	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	2.00	EA	0.00	\$600.00	\$0.0
		0001	0510	6191000	PAVEMENT EDGE TREATMENT	626.00	0.00	626.00	LF	0.00	\$4.30	\$0.00
		0001	0520	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	1,924.00	0.00	1,924.00	LF	0.00	\$18.00	\$0.00

Revision 5/29/2025 Page 6 of 19



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
13-	JSL0035				WHITE							
		0001	0530	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	638.00	0.00	638.00	LF	0.00	\$18.00	\$0.0
		0001	0540	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	115.00	0.00	115.00	EA	0.00	\$280.00	\$0.0
		0001	0550	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	3.00	0.00	3.00	EA	0.00	\$250.00	\$0.0
		0001	0560	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	7.00	0.00	7.00	EA	0.00	\$450.00	\$0.0
		0001	0570	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	251.00	0.00	251.00	EA	0.00	\$65.00	\$0.0
		0001	0580	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	3,223.00	0.00	3,223.00	LF	992.00	\$2.00	\$1,984.0
		0001	0590	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	3,222.00	0.00	3,222.00	LF	2,230.00	\$2.00	\$4,460.0
		0001	0600	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	129,731.00	0.00	129,731.00	LF	0.00	\$0.21	\$0.0
		0001	0610	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	204,786.00	0.00	204,786.00	LF	0.00	\$0.28	\$0.0
		0001	0620	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	63,724.00	0.00	63,724.00	LF	0.00	\$0.28	\$0.0
		0001	0630	6207001	PAVEMENT MARKING REMOVAL	14,418.00	0.00	14,418.00	LF	338.00	\$1.00	\$338.0
		0001	0640	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	97.00	0.00	97.00	EA	0.00	\$100.00	\$0.0
		0001	0650	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.0
		0001	0660	6214600A	FLOWABLE BACKFILL	3.00	0.00	3.00	CUYD	0.00	\$575.00	\$0.0
		0001	0670	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	248,403.00	0.00	248,403.00	SQYD	115,713.40	\$1.95	\$225,641.
		0001	0680	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10,921.00	0.00	10,921.00	SQYD	1,418.60	\$3.20	\$4,539.
		0001	0690	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,449.00	0.00	2,449.00	SQYD	550.00	\$4.50	\$2,475.0
		0001	0700	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	905.40	0.00	905.40	STA	0.00	\$16.75	\$0.
		0001	0710	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	242.50	0.00	242.50	STA	0.00	\$26.00	\$0.
		0001	0720	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	115.00	0.00	115.00	STA	0.00	\$60.00	\$0.
		0001	0730	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.35	\$29,500.00	\$10,325.
		0001	0740	8025006	MULCHING	0.30	0.00	0.30	ACRE	0.00	\$6,667.00	\$0.
		0001	0750	8051000A	SEEDING - COOL SEASON GRASSES	0.30	0.00	0.30	ACRE	0.00	\$10,667.00	\$0.
		0001	0760	8061006	ALTERNATE DITCH CHECK	20.00	0.00	20.00	LF	0.00	\$23.00	\$0.
		0001	0770	8061016	SEDIMENT REMOVAL	17.00	0.00	17.00	CUYD	0.00	\$7.50	\$0.
		0001	0780	8061019	SILT FENCE	1,625.00	0.00	1,625.00	LF	0.00	\$3.65	\$0.0
		0010	0790	6061060	MGS GUARDRAIL	16,085.00	0.00	16,085.00	LF	15,534.50	\$24.00	\$372,828.0
		0010	0800	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	9,263.00	1,872.00	11,135.00	LF	10,009.50	\$27.00	\$270,256.5
		0010	0810	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	7.00	0.00	7.00	EA	2.00	\$3,800.00	\$7,600.0
		0010	0820	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	7.00	0.00	7.00	EA	7.00	\$3,600.00	\$25,200.0
		0010	0830	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	4.00	0.00	4.00	EA	3.00	\$3,600.00	\$10,800.0
		0010	0840	6061074	MGS HEIGHT AND BLOCK TRANSITION	40.00	0.00	40.00	EA	34.00	\$800.00	\$27,200.0
		0010	0850	6061075	MGS LONG SPAN GUARDRAIL SECTION	1.00	0.00	1.00	EA	1.00	\$4,200.00	\$4,200.0
		0010	0860	6061080	MGS END ANCHOR	36.00	1.00	37.00	EA	32.00	\$2,100.00	\$67,200.
		0010	0870	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	49.00	-1.00	48.00	EA	40.00	\$3,400.00	\$136,000.
		0010	0880	6069902	MISC.TYPE A CRASHWORTHY END TERMINAL (MASH TL-2)	1.00	0.00	1.00	EA	1.00	\$2,800.00	\$2,800.0
		0020	0890	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	30.00	0.00	30.00	LF	0.00	\$17.00	\$0.
		0020	0900	9014004	CONDUIT, 4 IN. RIGID, PUSHED	122.00	0.00	122.00	LF	0.00	\$31.00	\$0.
		0020	0910	9016110	PULL BOX, PREFORMED CLASS 1	1.00	0.00	1.00	EA	0.00	\$1,587.00	\$0.
		0020	0920	9016112	PULL BOX, PREFORMED CLASS 3	2.00	0.00	2.00	EA	0.00	\$2,727.00	\$0.0
		0020	0930	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	560.00	0.00	560.00	LF	0.00	\$5.50	\$0.
		0030	0940	9020833	SH-FLAT SHEET - SIGNAL SIGN	53.00	0.00	53.00	SQFT	0.00	\$38.00	\$0.0
		0030	0950	9020834	SIGNAL SIGN, MOUNTING HARDWARE	8.00	0.00	8.00	EA	0.00	\$240.00	\$0.
		0030	0960	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	2.00	0.00	2.00	EA	0.00	\$22,816.00	\$0.
		0030	0970	9025020	CONDUIT, 1 IN., LOOP DETECTOR WITH TRACER WIRE	22.00	0.00	22.00	LF	0.00	\$20.00	\$0.
		0030	0980	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	110.00	0.00	110.00	LF	0.00	\$13.00	\$0.
		0030	0990	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	216.00	0.00	216.00	LF	0.00	\$16.00	\$0.
		0030	1000	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	400.00	0.00	400.00	LF	0.00	\$1.75	\$0.
		0030	1010	9028311	CABLE, 16 AWG 7 CONDUCTOR	730.00	0.00	730.00	LF	0.00	\$2.25	\$0.

Revision 5/29/2025 Page 7 of 19



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ict	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
3-	JSL0035	0030	1030	9028510	CABLE, LOOP DETECTOR, LEAD-IN	260.00	0.00	260.00	LF	0.00	\$1.50	\$0.
		0030	1040	9028810	PULL BOX, PREFORMED CLASS 1	2.00	0.00	2.00	EA	0.00	\$1,587.00	\$0.
		0030	1050	9029100	BASE, CONCRETE	4.30	0.00	4.30	CUYD	0.00	\$2,400.00	\$0
		0030	1060	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE AND PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$6,500.00	\$0
		0030	1070	9029902	MISC.COMBINATION PAD MONUTED 120V/240V POWER SUPPLY AND LIGHTING CONTROLLER WITH UPS	2.00	0.00	2.00	EA	0.00	\$22,000.00	\$0
		0030	1080	9029902	MISC.NETWORK CONNECTED SIGNAL MONITOR	2.00	0.00	2.00	EA	0.00	\$1,562.00	\$0
		0030	1090	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	2.00	0.00	2.00	EA	0.00	\$49,000.00	\$0
		0040	1100	9031010	CONCRETE FOOTINGS, EMBEDDED	40.70	0.00	40.70	CUYD	40.70	\$1,800.00	\$73,26
		0040	1110	9031210	STRUCTURAL STEEL POSTS	8,080.00	840.00	8,920.00	LB	8,920.00	\$5.00	\$44,60
		0040	1120	9031220	PIPE POSTS	18,650.00	0.00	18,650.00	LB	18,650.00	\$5.00	\$93,25
		0040	1130	9031270A	2 IN. PSST POST - 12 GA.	1,486.00	70.00	1,556.00	LF	1,556.00	\$28.00	\$43,56
		0040	1140	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	161.00	7.00	168.00	EA	168.00	\$125.00	\$21,000
		0040	1150	9031280	2.5 IN. PSST POST - 12 GA.	391.00	0.00	391.00	LF	391.00	\$30.00	\$11,73
		0040	1160	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	32.00	0.00	32.00	EA	32.00	\$200.00	\$6,40
		0040	1170	9035004A	SH-FLAT SHEET	3,226.00	43.00	3,269.00	SQFT	3,269.00	\$28.00	\$91,533
		0040	1180	9035011A	ST-STRUCTURAL	1,518.00	50.00	1,568.00	SQFT	1,568.00	\$36.00	\$56,44
		0040	1190	9035069A	SHF-FLAT SHEET FLUORESCENT	1,485.00	0.00	1,485.00	SQFT	1,485.00	\$38.00	\$56,43
		0040	1200	9039902	MISC.REMOVE AND RELOCATE GROUND MOUNT SIGN	22.00	0.00	22.00	EA	22.00	\$100.00	\$2,20
		0050	1210	9109901	MISC.ITS ASSETS MANAGEMENT TOOL	1.00	0.00	1.00	LS	0.00	\$600.00	\$2,20
		0050	1220	9109901	MISC.CONTRACTOR FURNISHED AND INSTALLED IP- ADDRESSABLE POWER STRIP	2.00	0.00	2.00	EA	0.00	\$474.00	\$
		0050	1230	9109902	MISC.FIBER OPTIC FUSION SPLICE	44.00	0.00	44.00	EA	0.00	\$68.00	\$
		0050	1240	9109902	MISC.FIBER OPTIC JUMPER	16.00	0.00	16.00	EA	0.00	\$20.00	\$
		0050	1250	9109902	MISC.FIBER OPTIC PIGTAIL	20.00	0.00	20.00	EA	0.00	\$20.00	5
		0050	1260	9109902	MISC.INSTALL CONDUIT INTO EXISTING PULL BOX	4.00	0.00	4.00	EA	0.00	\$400.00	5
		0050	1270	9109902	MISC.INSTALL OR RELOCATE EXISTING COMMUNICATIONS EQUIPMENT	2.00	0.00	2.00	EA	0.00	\$400.00	\$
		0050	1280	9109902	MISC.WALL-MOUNTED INTERCONNECT CENTER	2.00	0.00	2.00	EA	0.00	\$769.00	9
		0050	1290	9109903	MISC.CONDUIT, HDPE, TRENCH, 2-2"	98.00	0.00	98.00	LF	0.00	\$16.00	9
		0050	1300	9109903	MISC.FIBER OPTIC CABLE, 24 STRAND, SINGLE MODE	1,010.00	0.00	1,010.00	LF	0.00	\$3.25	5
		0050	1310	9109903	MISC.MODOT ITS ASSETS RELOCATION	200.00	0.00	200.00	LF	0.00	\$22.00	\$
		0071	1320	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	23.00	0.00	23.00	SQFT	11.50	\$279.00	\$3,20
		0071	1330	2162000	REMOVAL AND STORAGE OF EXISTING BRIDGE RAIL	237.00	0.00	237.00	LF	119.00	\$20.00	\$2,38
		0071	1340	2162500	REMOVAL OF EXISTING BRIDGE DECK	5,614.00	0.00	5,614.00	SQFT	2,807.00	\$21.00	\$58,94
		0071	1350	2169904	MISC.REMOVAL OF EXISTING BRIDGE APPROACH SLAB	1,790.00	0.00	1,790.00	SQFT	895.00	\$4.00	\$3,58
		0071	1360	5031010A	BRIDGE APPROACH SLAB (MAJOR)	199.00	0.00	199.00	SQYD	0.00	\$480.00	\$
		0071	1370	7034212	SLAB ON STEEL	623.00	0.00	623.00	SQYD	109.00	\$600.00	\$65,40
		0071	1380	7034212 7034219A	TYPE D BARRIER	277.00	0.00	277.00	LF	0.00	\$190.00	\$05,40
		0071							SQFT			
		0071	1390	7040102 7061070	SUBSTRUCTURE REPAIR (UNFORMED)  MECHANICAL BAR SPLICE	20.00 473.00	0.00	20.00 473.00	EA	9.00	\$190.00 \$41.00	\$1,71
		0071	1410	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$
		0071	1420	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL STEEL	4,800.00	0.00	4,800.00	SQFT	0.00	\$48.00	\$
		0071	1430	7125209	FIELD APPLICATION OF ORGANIC ZINC PRIMER	4,800.00	0.00	4,800.00	SQFT	0.00	\$2.00	\$
		0071	1440	7125365A	INTERMEDIATE FIELD COAT (SYSTEM G)	900.00	0.00	900.00	SQFT	0.00	\$2.00	\$
		0071	1450	7125370A	FINISH FIELD COAT (SYSTEM G)	900.00	0.00	900.00	SQFT	0.00	\$2.00	3
		0071	1460	7126000	NON-DESTRUCTIVE TESTING	56.00	0.00	56.00	LF	28.00	\$88.00	\$2,46
		0071	1470	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$5,500.00	\$11,00
		0071	1480	7172054	OPEN CELL FOAM JOINT SEAL	91.00	0.00	91.00	LF	0.00	\$100.00	\$11,00
		00710	1490	6233000		596.00	0.00	596.00	SQYD	596.00	\$49.00	\$29,20
		00710			EPOXY POLYMER WEARING SURFACE							
		00710	1500	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$193.00	
		00710	1510	7040163	CONCRETE CRACK FILLER	217.00	0.00	217.00	SQYD	217.00	\$12.00	\$2,60
		0010	1520	7049903	MISC.BARRIER REPAIR (UNFORMED)	20.00	0.00	20.00	LF	12.00	\$270.00	\$3,24
			5001	2029903	MISC.Remove Guardrail	0.00	1,887.00	1,887.00	LF	1,887.00	\$6.30	\$11,88
	Project J:	SL0035 - To	tal Value	Posted to I	Date as of Report Generated Date							\$4,487,30

Revision 5/29/2025 Page 8 of 19



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSL0035

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/Log Mile	Offset/ Distance	To Station/Log Mile	Offset/ Distance	Comments
0010	2013000	CLEARING AND GRUBBING	8/28/25	9/3/25	1	0.20	ACRE	Spill slopes under Bridges A74531 and H03532					
0030	2031000	CLASS A EXCAVATION	8/28/25	9/3/25	1	300.00	CUYD	Spill slopes under Bridges A74531 and H03532					
100	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	8/28/25	9/3/25	1	76.38	TONS	EB Entrances Only	3258+95.40		3313+03.17		Drive at Sta 3273+34.48 was omitted from milling and paving due to it being recently paved and in good condition.
110	4030111	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP1	8/25/25	8/27/25	1	264.57	TONS		87.781		87.52		
			8/26/25	8/27/25	1	1,510.02	TONS		87.52		86.023		
			8/27/25	8/28/25	1	1,680.54	TONS		87.779	86.062			
			8/28/25	8/29/25	1	1,591.76	TONS		86.065		84.482		
120	4071007	TACK COAT - NON-TRACKING	8/25/25	8/27/25	1	581.00	GAL	Rte 100					
			8/26/25	8/27/25	1	1,065.00	GAL		87.52		86.023		
			8/27/25	8/28/25	1	1,283.00	GAL		87.779		86.062		
			8/28/25	8/29/25	1	1,137.00	GAL		86.065		84.482		
				9/3/25	1	78.90	GAL	All EB Entrances and WB Entrances at Sta 3310+35.20, 3312+39.93	3258+95.40		3313+03.17		Drive at Sta 3273+34.48 was omitted from milling and paving due to it being recently paved and in good condition.
260	6113020	FURNISHING TYPE 2 ROCK BLANKET	8/28/25	9/3/25	1	100.00	CUYD	Spill slopes under Bridges A74531 and H03532					
270	6113040	PLACING TYPE 2 ROCK BLANKET	8/28/25	9/3/25	1	100.00	CUYD	Spill slopes under Bridges A74531 and H03532					
670	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	8/25/25	8/27/25	1	6,861.65	SQYD		87.781		87.05		
			8/26/25	8/27/25	1	14,051.84	SQYD		87.52		86.023		
			8/27/25	8/28/25	1	16,116.90	SQYD		87.779		86.062		
			8/28/25	8/29/25	1	14,859.09	SQYD		86.065		84.482		
				9/3/25	1	1,161.30	SQYD	All driveways and entrances between stations.	3255+56.57		3313+03.17		Drive at Sta 3273+34.48 was omitted from milling and paving due to it being recently paved and in good condition.
690	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	8/28/25	9/3/25	1	200.00	SQYD	Spill slopes under Bridges A74531 and H03532					
370	7034212	SLAB ON STEEL	8/29/25	9/2/25	1	109.00	SQYD	Bridge H03532 Stage 1 Construction					First partial payment for form installation on Stage Construction as specified in EPG 703.2
470	7151001	VERTICAL DRAIN AT END BENTS	8/19/25	8/21/25	1	1.00	EA	Bridge H03532 East Abutment					
			8/22/25	8/25/25	1	1.00	EA	Bridge H03532 Northwest End Bent.					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 9 of 19



ect Line	e Descri	ption	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
035 005	0 COMPAC EMBANKI		Material		13	Aug 19, 2025	SYSTEM	(\$2,743.50)	
					13	Aug 19, 2025	SYSTEM	\$2,743.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Sep 3, 2025	SYSTEM	(\$2,743.50)	
					14	Sep 3, 2025	SYSTEM	\$2,743.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
005	0 - Total							\$0.00	
009		ATE	Material		10	Jul 1, 2025	SYSTEM	(\$2,606.30)	
	FOR BAS	FOR BASE			10	Jul 1, 2025	SYSTEM	\$2,606.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Jul 16, 2025	SYSTEM	(\$5,427.00)	
					11	Jul 16, 2025	SYSTEM	\$5,427.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Aug 19, 2025	SYSTEM	(\$5,427.00)	
					14	Sep 3, 2025	SYSTEM	(\$5,427.00)	
				- Total				(\$10,854.00)	
			Material - Tota	al				(\$10,854.00)	
			MaterialCredit		14	Sep 3, 2025	SYSTEM	\$5,427.00	
				- Total				\$5,427.00	
			MaterialCredi	t - Total				\$5,427.00	
	0 - Total		Other Item					(\$5,427.00)	
010	MIXTURE	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Adjustment	ACAD	4	Apr 2, 2025	calveg1	\$1,037.30	Current Index: 501.25 Base Index: 493.75 Index Difference: 7.5 Total Adjustment= \$1037.30 Mix: BP1 24-49 Virgin AC: 3.8%
					5	Apr 16, 2025	calveg1	\$1,643.16	Current Index: 511.25 Base Index: 493.75 Index Difference:17.5 Total Adjustment= \$1643.16 Mix: BP1 24-49 Virgin AC 3.8%
					6	May 2, 2025	calveg1	\$239.19	Current Index: 511.25 Base Index: 493.75 Index Difference: 17.5 Total Adjustment: \$239.19 Mix: BP1 24-49
									Virgin AC: 3.8%
					11	Jul 16, 2025	calveg1	\$146.44	Virgin AC: 3.8%  Current Index: 513.75  Base Index: 493.75  Index Difference: 20  Total Adjustment: \$146.44  Mix: BP-1 24-49  Virgin AC: 3.8%
					11		calveg1	\$146.44 \$58.05	Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment: \$146.44 Mix: BP-1 24-49
				ACAD - Tot	14	2025 Sep 3,	·		Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment: \$146.44 Mix: BP-1 24-49 Virgin AC: 3.8%  Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment= \$58.05 Mix: BP1 24-49
			Other Item Ad		14 al	2025 Sep 3,	·	\$58.05	Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment: \$146.44 Mix: BP-1 24-49 Virgin AC: 3.8%  Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment= \$58.05 Mix: BP1 24-49



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
35 (	0110	ASPHALTIC CONCRETE	Material	3.	14	Sep 3, 2025	SYSTEM	(\$428,985.65)	
		MIXTURE PG 76-22 (SP1			14	Sep 3, 2025	SYSTEM	\$428,985.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	il				\$0.00	
			Other Item Adjustment	ACAD	14	Sep 3, 2025	calveg1	\$4,037.51	Current Index: 513.75 Base Index: 493.75 Index Difference: 20 Total Adjustment= \$4037.51 Mix: SP125 25-59 Virgin AC: 4.0%
				ACAD - Tot	al			\$4,037.51	
			Other Item Ad	justment - To	tal			\$4,037.51	
(	0110 -	Total						\$4,037.51	
(	0160	MISC.	Material		12	Aug 4, 2025	SYSTEM	(\$52,713.60)	
					12	Aug 4, 2025	SYSTEM	\$52,713.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Aug 19, 2025	SYSTEM	(\$52,713.60)	
					13	Aug 19, 2025	SYSTEM	\$52,713.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					14	Sep 3, 2025	SYSTEM	(\$52,713.60)	
					14	Sep 3, 2025	SYSTEM	\$52,713.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user calveg1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
•	0160 -	Total						\$0.00	
(	0170		Material		10	Jul 1, 2025	SYSTEM	(\$13,226.00)	
	0170 N				40				
					10	Jul 1, 2025	SYSTEM	\$13,226.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total	10		SYSTEM	\$13,226.00 \$0.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment
			Material - Tota		10		SYSTEM		Estimate Item Adjustment (0002) due to user calveg1 overridding Payment
(	0170 -	Total	Material - Tota		10		SYSTEM	\$0.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment
	<b>0170 -</b> 0190	PIPE AGGREGATE	Material - Tota		13		SYSTEM	\$0.00 \$0.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment
		PIPE			13	Aug 19, 2025 Sep 3, 2025	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00)	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		PIPE AGGREGATE PAVEMENT			13	Aug 19, 2025 Sep 3,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00)	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment
		PIPE AGGREGATE PAVEMENT			13	Aug 19, 2025 Sep 3, 2025 Sep 3,	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00)	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
		PIPE AGGREGATE PAVEMENT		al - Total	13	Aug 19, 2025 Sep 3, 2025 Sep 3,	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
		PIPE AGGREGATE PAVEMENT	Material	- Total	13	Aug 19, 2025 Sep 3, 2025 Sep 3,	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
		PIPE AGGREGATE PAVEMENT	Material  Material - Tota  MaterialCredit	- Total	13 14 14	Aug 19, 2025 Sep 3, 2025 Sep 3, 2025 Sep 3, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) (\$8,487.00) (\$8,487.00)	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
		PIPE AGGREGATE PAVEMENT	Material  Material - Tota	- Total	13 14 14	Aug 19, 2025 Sep 3, 2025 Sep 3, 2025 Sep 3, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) \$8,487.00 (\$8,487.00) \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
(		PIPE AGGREGATE PAVEMENT CROSS DRAIN	Material  Material - Tota  MaterialCredit	- Total	13 14 14	Aug 19, 2025 Sep 3, 2025 Sep 3, 2025 Sep 3, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) \$8,487.00 (\$8,487.00) \$8,487.00 \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
(	0190 -	PIPE AGGREGATE PAVEMENT CROSS DRAIN  Total INTEGRAL CURB (6 IN.	Material  Material - Tota  MaterialCredit	- Total	13 14 14	Aug 19, 2025 Sep 3, 2025 Sep 3, 2025 Sep 3, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) \$8,487.00 (\$8,487.00) \$8,487.00 \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment
	0190 -	PIPE AGGREGATE PAVEMENT CROSS DRAIN  Total INTEGRAL	Material - Tota Material Credit	- Total	13 14 14	Aug 19, 2025 Sep 3, 2025 Sep 3, 2025 Aug 19, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$8,487.00) (\$8,487.00) (\$8,487.00) (\$8,487.00) \$8,487.00 \$8,487.00 \$8,487.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user calveg1 overridding Payment



ect I	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks	
	LIIIO	Bosonphon	Туре	Adjustment Type		Date	Ву	7 tillodilt	remane	
035 0	0210	INTEGRAL	Material	Туре		2025				
100	0210	CURB (6 IN.	Waterial		14	Sep 3,	SYSTEM	\$231.00	This adjustment offsets the original system-generated Material Payment	
		HEIGHT AND UNDER)				2025	0.0.2	Ψ201100	Estimate Item Adjustment (0008) due to user calveg1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
				- Total				\$0.00	Estimate Exception 7 on the current Faymont Estimate.	
			Material - Tota					\$0.00		
C	0210 -	Total						\$0.00		
C	0350	FURN & PLACE	Material		7	May 16,	SYSTEM	(\$65,880.00)		
		CONC MATL FOR FULL				2025	0)/07514	(0.100.000.00)		
		DEPTH			8	Jun 2, 2025	SYSTEM	(\$183,960.00)		
					8	Jun 2,	SYSTEM	\$183,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user calveg1 overridding Payment	
						2025			Estimate Exception 1 on the current Payment Estimate.	
				- Total				(\$65,880.00)		
			Material - Tota	ıl				(\$65,880.00)		
			MaterialCredit		8	Jun 2, 2025	SYSTEM	\$65,880.00		
				- Total		2025		\$65,880.00		
			MaterialCredit					\$65,880.00		
			Overrun	Overrun	13	Aug 19,	SYSTEM	(\$18,115.20)		
						2025				
				Overrun - T	otal			(\$18,115.20)		
			Overrun - Tota	al				(\$18,115.20)		
	0350 -				-	14 40	0)/07514	(\$18,115.20)		
0	0390	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		7	May 16, 2025	SYSTEM	(\$6,048.00)		
				- Total				(\$6,048.00)		
			Material - Tota	ıl				(\$6,048.00)		
				MaterialCredit		8	Jun 2, 2025	SYSTEM	\$6,048.00	
				- Total				\$6,048.00		
			MaterialCredit	: - Total				\$6,048.00		
C	0390 -	Total						\$0.00		
C	0400	TIE BAR (DRILL,	Material		12	Aug 4,	SYSTEM	(\$100.80)		
		FURN & INSTAL) (TYPE L			12	2025 Aug 4,	SYSTEM	\$100.80	This adjustment offsets the original system-generated Material Payment	
					12	2025	OTOTEW	ψ100.00	Estimate Item Adjustment (0002) due to user calveg1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
				- Total				\$0.00	Estimate Exception 3 on the current Payment Estimate.	
			Material - Tota					\$0.00		
			Overrun	Overrun	13	Aug 19,	SYSTEM	(\$172.80)		
						2025				
			0	Overrun - T	otal			(\$172.80)		
	0400	Total	Overrun - Tota					(\$172.80)		
	0 <b>400</b> - 0690	PERMANENT	Material		13	Δυσ 10	SYSTEM	(\$1,575,00)		
	บอลก	EROSION	waterial		13	Aug 19, 2025	STOLEM	(\$1,575.00)		
		CONTROL GEOTEXTILE			14	Sep 3, 2025	SYSTEM	(\$2,475.00)		
					14	Sep 3,	SYSTEM	\$2,475.00	This adjustment offsets the original system-generated Material Payment	
						2025		, 0.00	Estimate Item Adjustment (0010) due to user calveg1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
				- Total				(\$1,575.00)		
			Material - Tota					(\$1,575.00)		
			matorial rote					(4.,070.00)		
			MaterialCredit		14	Sep 3.	SYSTEM	\$1,575.00		
			MaterialCredit	- Total	14	Sep 3, 2025	SYSTEM	\$1,575.00 \$1,575.00		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
ISL0035	0690	PERMANENT EROSION CONTROL GEOTEXTILE	MaterialCredit	- Total				\$1,575.00	
	0690 -							\$0.00	
	0790	MGS GUARDRAIL	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$32,670.36)	Payment Estimate Item Adjustment generated Stockpile Transaction
					3	Mar 17, 2025	SYSTEM	(\$79,713.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
					4	Apr 2, 2025	SYSTEM	(\$73,476.38)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Apr 16, 2025	SYSTEM	(\$2,281.87)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	8	Jun 2, 2025	SYSTEM	(\$912.75) (\$189,054.86)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		atal.			(\$189,054.86)	
			Construction	Stockpile - To	1 1	Feb 17,	SYSTEM	\$195,754.45	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI		'	2025	OTOTEW		T ayment Estimate norm Adjustment generated Glockpile Transaction
				- Total				\$195,754.45	
			Construction	Stockpile STI	VII - Total			\$195,754.45	
	0790 -							\$6,699.59	
	0800	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile		3	Mar 17, 2025	SYSTEM	(\$4,275.12)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT 3 IN	N		5	Apr 2, 2025 Apr 16,	SYSTEM	(\$2,044.63)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
					6	2025 May 2,	SYSTEM	(\$71,747.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
						2025		,	, , ,
					7	May 16, 2025	SYSTEM	(\$38,483.56)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$137,740.81)	
			Construction	Stockpile - To			0)10==11	(\$137,740.81)	
			Construction Stockpile STMI	- Total	1	Feb 17, 2025	SYSTEM	\$137,740.81 \$137,740.81	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		MI - Total			\$137,740.81	
			Overrun	Overrun	7	May 16,	SYSTEM	(\$13,405.50)	
			Overruit	Overrain	8	2025 Jun 2,	SYSTEM	(\$6,750.00)	
						2025	3.51EW	(\$5,700.00)	
					13	Aug 19, 2025	SYSTEM	\$20,155.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',27.00000 - 27.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0800 -	Total						\$0.00	
	0810	MGS BRIDGE APP. TRANS SEC (EXT	Construction Stockpile		8	Jun 2, 2025	SYSTEM	(\$4,286.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		CURB)		- Total				(\$4,286.00)	
			Construction	Stockpile - To			0)/0==-	(\$4,286.00)	
			Construction Stockpile STMI	Total	1	Feb 17, 2025	SYSTEM	\$15,001.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	MI Total			\$15,001.00	
	0940	Total	Construction	Stockpile STI	vii - Total			\$15,001.00 \$10,715.00	
	0810	MGS BRIDGE	Construction		2	Mar 3,	SYSTEM	<b>\$10,715.00</b> (\$4,156.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	U0ZU	APP. TRANS SEC (REG/NO	Stockpile		_	2025	SISIEW	(φ4, 100.00)	т аутын Сэшнаге нет лајазинен уенегагей эгоскрпе Hansaction



t Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
35 0820	CURB)	Construction Stockpile		4	Apr 2, 2025	SYSTEM	(\$4,156.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Apr 16, 2025	SYSTEM	(\$2,078.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				8	Jun 2, 2025	SYSTEM	(\$4,156.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$14,546.00)	
		Construction	Stockpile - To	otal			(\$14,546.00)	
		Construction Stockpile STMI		1	Feb 17, 2025	SYSTEM	\$14,546.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		STIVII	- Total				\$14,546.00	
		Construction	Stockpile STI	MI - Total			\$14,546.00	
0820	- Total						\$0.00	
0830	MGS VERTICAL CONCRETE	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$1,740.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	BARRIER TRANSITION			3	Mar 17, 2025	SYSTEM	(\$3,480.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$5,220.00)	
		Construction	Stockpile - To	otal			(\$5,220.00)	
		Construction Stockpile		1	Feb 17, 2025	SYSTEM	\$6,960.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		STMI	- Total				\$6,960.00	
0020		Construction	Stockpile STI	MI - Total			\$6,960.00	
0830	- Total						\$1,740.00	
0840		Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$5,895.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Mar 17, 2025	SYSTEM	(\$1,310.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Apr 2, 2025	SYSTEM	(\$1,637.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Apr 16, 2025	SYSTEM	(\$1,637.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	May 16, 2025	SYSTEM	(\$655.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$11,135.00)	
		Construction	Stockpile - To	otal			(\$11,135.00)	
		Construction Stockpile STMI		1	Feb 17, 2025	SYSTEM	\$13,100.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$13,100.00	
		Construction	Stockpile STI	MI - Total			\$13,100.00	
0840	- Total						\$1,965.00	
0850	MGS LONG SPAN GUARDRAIL	Construction Stockpile		4	Apr 2, 2025	SYSTEM	(\$1,350.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	SECTION		- Total				(\$1,350.00)	
				-4-1			(64 050 00)	
		Construction	Stockpile - To	otai			(\$1,350.00)	
		Construction Stockpile		1	Feb 17, 2025	SYSTEM	\$1,350.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		Construction	Stockpile - To			SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
		Construction Stockpile	- Total	1		SYSTEM	\$1,350.00	Payment Estimate Item Adjustment generated Stockpile Transaction
0850	- Total	Construction Stockpile STMI	- Total	1		SYSTEM	\$1,350.00 \$1,350.00	Payment Estimate Item Adjustment generated Stockpile Transaction
<b>0850</b> 0860	-Total  MGS END ANCHOR	Construction Stockpile STMI	- Total	1		SYSTEM	\$1,350.00 \$1,350.00 \$1,350.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
	MGS END	Construction Stockpile STMI Construction	- Total	1 MI - Total	2025 Mar 3,		\$1,350.00 \$1,350.00 \$1,350.00 \$0.00	
	MGS END	Construction Stockpile STMI Construction	- Total	1 MI - Total	2025 Mar 3, 2025 Mar 17,	SYSTEM	\$1,350.00 \$1,350.00 \$1,350.00 \$0.00 (\$2,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction



Line   Description   Algorithment											
AICHOR   Stockpile     2025	Line	Description		Adjustment				Amount	Remarks		
Total	5 0860				6		SYSTEM	(\$4,550.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
Construction Stockpile   Total   1   Feb 17,   SYSTEM   323,400.00   Payment Estimate Item Adjustment generated Stockpile Transaction   Stockpile					7		SYSTEM	(\$2,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
Construction				- Total				(\$20,800.00)			
Sibologie   2025			Construction	Stockpile - To	otal			(\$20,800.00)			
Construction Stockpile STMI - Total   \$23,400.00			Stockpile		1		SYSTEM	\$23,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
Payment Estimate Item Adjustment generated Stockpile Transaction   Payment Estimate Item Adjustment g			SIMI	- Total				\$23,400.00			
Construction   Stockpile   Total   Stockpile   STIM    Street   Stockpile   Total			Construction	Stockpile STI	MI - Total			\$23,400.00			
CRASHWORTHY   Slockpile	0860 -	Total						\$2,600.00			
Agr   2	0870	CRASHWORTHY			2		SYSTEM	(\$12,950.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
2025   SYSTEM   (\$9,250.00)   Payment Estimate Item Adjustment generated Stockpile Transaction					3		SYSTEM	(\$9,250.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
2025   SYSTEM   (\$12,950.00)   Payment Estimate Item Adjustment generated Stockpile Transaction					4		SYSTEM	(\$18,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
					5		SYSTEM	(\$9,250.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
					6		SYSTEM	(\$12,950.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
Construction Stockpile - Total							7		SYSTEM	(\$5,550.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile   Total   SySTEM   Sy0,650.00   Payment Estimate Item Adjustment generated Stockpile Transaction   Stockpile   STMI   - Total   Sy0,650.00					8		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction		
Construction   Stockpile   Transaction   Stockpile   STMI   - Total   S90,650.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S70,650.00				- Total				(\$74,000.00)			
Stockpile   STMI   -Total   S90,650.00			Construction	Stockpile - To	otal			(\$74,000.00)			
Total   \$90,650.00			Stockpile		1		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction		
Start				- Total				\$90,650.00			
MISC. GUARDRAIL   TEM			Construction	Stockpile STI	MI - Total			\$90,650.00			
GUARDRAIL ITEM  - Total  - Tot	0870 -	Total						\$16,650.00			
Construction Stockpile - Total  Construction Stockpile - Total  Construction Stockpile - Total  Construction Stockpile - Total  Construction Stockpile STMI - Total  Construction Stockpile STMI - Total  STRUCTURAL STEEL POSTS  STRUCTURAL STEEL POSTS  Construction Stockpile  Apr 16, 2025  SYSTEM (\$306.88) Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile  Total  Construction Stockpile - Total  Summer Summer Stockpile - Total  Summer St	0880	MISC. GUARDRAIL	GUARDRAIL Stockpile			6		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction	
Construction Stockpile STMI  - Total  - Total  - Total  S1,850.00  Construction Stockpile STMI  - Total  S1,850.00  Construction Stockpile STMI - Total  S1,850.00  Construction Stockpile STMI - Total  S1,850.00  Construction Stockpile STMI - Total  S1,850.00  Construction Stockpile STMI - Total  S1,850.00  Construction Stockpile STMI - Total  S1,850.00  Construction Stockpile - Total  S1,850.00  Construction Stockpile - Total  S1,850.00  Payment Estimate Item Adjustment generated Stockpile Transaction (\$306.88)  Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction (\$2025 SYSTEM (\$21,106.47) System (\$21,106.47)  Payment Estimate Item Adjustment generated Stockpile Transaction (\$22,091.04)  Construction Stockpile - Total  Construction Stockpile - Total  Construction Stockpile - Total  S22,091.04  Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile Transaction Stockpile Transaction Stockpile - Total  S22,091.04											
Stockpile STMI  - Total    S1,850.00				Stockpile - To							
Construction Stockpile STMI - Total  \$1,850.00    STRUCTURAL STEEL POSTS			Stockpile		1		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction		
STRUCTURAL STEEL POSTS   STRUCTURAL STRUC											
1110 STRUCTURAL STEEL POSTS  Construction Stockpile  5 Apr 16, 2025  7 May 16, 2025  9 Jun 16, 2025  9 SYSTEM (\$306.88) Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  1110 STRUCTURAL STEEL POSTS  7 May 16, 2025  9 Jun 16, 2025  9 SYSTEM (\$21,106.47) Payment Estimate Item Adjustment generated Stockpile Transaction  1110 STRUCTURAL STEEL POSTS  7 May 16, 2025  9 SYSTEM (\$21,106.47) Payment Estimate Item Adjustment generated Stockpile Transaction  1110 STRUCTURAL STEEL POSTS  9 Jun 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$21,106.47) Payment Estimate Item Adjustment generated Stockpile Transaction  1110 STRUCTURAL STEEL POSTS  9 Jun 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  9 Apr 16, 2025  9 SYSTEM (\$22,091.04)  1110 STRUCTURAL STEEL POSTS  1110			Construction	Stockpile STI	MI - Total						
7 May 16, 2025 SYSTEM (\$677.69) Payment Estimate Item Adjustment generated Stockpile Transaction 9 Jun 16, 2025 (\$21,106.47) Payment Estimate Item Adjustment generated Stockpile Transaction  - Total (\$22,091.04)  Construction Stockpile - Total (\$22,091.04)  Construction Stockpile STMI - Total - SYSTEM S22,091.04  - Total - SYSTEM S22,091.04  SYSTEM S22,091.04		STRUCTURAL			5		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction		
9 Jun 16, 2025 (\$21,106.47) Payment Estimate Item Adjustment generated Stockpile Transaction  - Total (\$22,091.04)  Construction Stockpile - Total (\$22,091.04)  Construction Stockpile STMI 4 Apr 2, 2025 SYSTEM \$22,091.04  - Total \$22,091.04		STEEL POSTS	Stockpile		7	May 16,	SYSTEM	(\$677.69)	Payment Estimate Item Adjustment generated Stockpile Transaction		
- Total (\$22,091.04)  Construction Stockpile - Total (\$22,091.04)  Construction Stockpile STMI 4 Apr 2, 2025 SYSTEM \$22,091.04  Payment Estimate Item Adjustment generated Stockpile Transaction \$22,091.04					9	Jun 16,	SYSTEM	(\$21,106.47)	Payment Estimate Item Adjustment generated Stockpile Transaction		
Construction Stockpile - Total (\$22,091.04)  Construction Stockpile 4 Apr 2, 2025 SYSTEM \$22,091.04 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile - Total \$22,091.04				- Total		2025		(\$22,094,04)			
Construction Stockpile STMI  4 Apr 2, 2025 SYSTEM \$22,091.04 Payment Estimate Item Adjustment generated Stockpile Transaction \$22,091.04			Construction		otal						
Stockpile   2025       - Total   \$22,091.04				Stockpile - 10		Apr 2	SVSTEM		Payment Estimate Item Adjustment generated Stocknilla Transaction		
			Stockpile	- Total	7		STOTEM		a symmetric action registration generated stockpile transaction		
922,031.04			Construction		MI - Total						
1110 - Total \$0.00	1110	Total	Jonesia de de la constitución de	otookpiie o II	Potal						
1120 PIPE POSTS Construction Stockpile 5 Apr 16, SYSTEM (\$1,510.09) Payment Estimate Item Adjustment generated Stockpile Transaction					5		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction		
7 May 16, SYSTEM (\$2,053.98) Payment Estimate Item Adjustment generated Stockpile Transaction 2025					7	May 16,	SYSTEM	(\$2,053.98)	Payment Estimate Item Adjustment generated Stockpile Transaction		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
SL0035	1120	PIPE POSTS	Construction Stockpile		9	Jun 16, 2025	SYSTEM	(\$44,132.89)	Payment Estimate Item Adjustment generated Stockpile Transaction
					13	Aug 19, 2025	SYSTEM	(\$793.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$48,490.00)	
			Construction	Stockpile - To	otal			(\$48,490.00)	
			Construction		4	Apr 2,	SYSTEM	\$48,490.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile			2025		*,	
			STMI	- Total				\$48,490.00	
			Construction	Stockpile STI	MI - Total			\$48,490.00	
	1120 -	Total						\$0.00	
	1130	2 IN. PSST POST - 12 GA.	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$7,674.48)	Payment Estimate Item Adjustment generated Stockpile Transaction
					3	Mar 17, 2025	SYSTEM	(\$5,668.65)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Jun 16, 2025	SYSTEM	(\$298.35)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$13,641.48)	
			Construction	Stockpile - To	otal			(\$13,641.48)	
			Construction Stockpile		1	Feb 17, 2025	SYSTEM	\$13,641.48	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$13,641.48	
			Construction	Stockpile STI	MI - Total			\$13,641.48	
	1130 -	Total						\$0.00	
	1140	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$3,160.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
					3	Mar 17, 2025	SYSTEM	(\$1,506.54)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Jun 16, 2025	SYSTEM	(\$88.62)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$4,755.94)	
			Construction	Stockpile - To	otal			(\$4,755.94)	
			Construction Stockpile STMI		1	Feb 17, 2025	SYSTEM	\$4,755.94	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$4,755.94	
			Construction	Stockpile STI	MI - Total			\$4,755.94	
			Material		2	Mar 3, 2025	SYSTEM	(\$13,375.00)	
					2	Mar 3, 2025	SYSTEM	\$13,375.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user calveg1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	l e				\$0.00	
	1140 -	Total						\$0.00	
	1150	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$1,293.44)	Payment Estimate Item Adjustment generated Stockpile Transaction
					3	Mar 17, 2025	SYSTEM	(\$1,759.92)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7	May 16, 2025	SYSTEM	(\$292.87)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Jun 16, 2025	SYSTEM	(\$817.92)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$4,164.15)	
			Construction	Stockpile - To	otal			(\$4,164.15)	
			Construction Stockpile STMI	1		Feb 17, 2025	SYSTEM	\$4,164.15	Payment Estimate Item Adjustment generated Stockpile Transaction
			J 1 1 1 1 1	- Total				\$4,164.15	
			Construction	Stockpile STI	MI - Total			\$4,164.15	



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
35	1150 -	Total						\$0.00		
	1160	DRIVEN POST ANCHOR FOR	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$795.20)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		2.5 IN. PSST - 7 GA.			3	Mar 17, 2025	SYSTEM	(\$954.24)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					7	May 16, 2025	SYSTEM	(\$159.04)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					9	Jun 16, 2025	SYSTEM	(\$636.16)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$2,544.64)		
			Construction	Stockpile - To				(\$2,544.64)		
			Construction Stockpile STMI		1	Feb 17, 2025	SYSTEM	\$2,544.64	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$2,544.64		
			Construction	Stockpile STI			a) (a===1.	\$2,544.64		
			Material		2	Mar 3, 2025	SYSTEM	(\$2,000.00)		
					2	Mar 3, 2025	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user calveg1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	al				\$0.00		
	1160 -	Total						\$0.00		
	1170	SH-FLAT SHEET	Construction Stockpile		3	Mar 17, 2025	SYSTEM	(\$13,821.10)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					4	Apr 2, 2025	SYSTEM	(\$665.79)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Apr 16, 2025	SYSTEM	(\$3,271.21)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					7	May 16, 2025	SYSTEM	(\$4,731.43)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total	9	Jun 16, 2025	SYSTEM	(\$253.77)	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction	Stockpile - Total				(\$22,743.30)		
			Construction Stockpile		Stockpile - To	1	Feb 17, 2025	SYSTEM	\$22,743.30	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$22,743.30		
			Construction	Stockpile STI	MI - Total			\$22,743.30		
	1170 -	Total						\$0.00		
	1190	SHF-FLAT SHEET	Construction Stockpile		2	Mar 3, 2025	SYSTEM	(\$8,240.71)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		FLUORESCENT			3	Mar 17, 2025	SYSTEM	(\$6,138.04)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Apr 16, 2025	SYSTEM	(\$636.12)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					7	May 16, 2025	SYSTEM	(\$221.23)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$15,236.10)		
			Construction	Stockpile - To				(\$15,236.10)		
			Construction Stockpile STMI		1	Feb 17, 2025	SYSTEM	\$15,236.10	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$15,236.10		
			Construction	Stockpile STI	MI - Total			\$15,236.10		
	<b>1190</b> -	Total SLAB ON STEEL	Material		14	Sep 3,	SYSTEM	<b>\$0.00</b> (\$65,400.00)		
	. 5. 0	0 01111			14	2025 Sep 3,	SYSTEM	\$65,400.00	This adjustment offsets the original system-generated Material Payment	
					1-7	2025	STOTEW	ψου, του.ου	Estimate Item Adjustment (0011) due to user calveg1 overridding Payment	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0035	1370	SLAB ON STEEL	Material						Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1370 - Total							\$0.00	
	1470	VERTICAL DRAIN AT END	Material		14	Sep 3, 2025	SYSTEM	(\$11,000.00)	
		BENTS			14	Sep 3, 2025	SYSTEM	\$11,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user calveg1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1470 - Total							\$0.00	
JSL0035	- Total							\$23,816.24	
Overall -	Overall - Total								

# MoDOT

## **Contract Adjustments for Contract -** 241213-F02

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 19 of 19